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(1) AR K & (HAZ @ nf)
i A N i [it] . V8 75 Z=piiy & it
4 A 836,252 299,207  138,177| 209, 153 90, 374  212,307| 1,785, 470
5 A 852,380 311,724 140,860/ 219,287 98,862 218,040 1,841, 153
6 A 843,621| 304,505  139,706| 224,538 94,419 211,957 1,818, 746
7 A 863,367| 311,168 142,715 243,497 78,057|  219,706| 1,858,510
8 A 906, 328| 326,841  149,190| 258,663 75,564 233,925 1,950,511
9 A 832,484 306,514 143,657 230,016 70,588  218,280| 1,801,539
10 A 849,873 314,531 151,966/ 243,005 71,463|  224,250| 1,855,088
11 A 824,322 306,968 141,694 224,411 84,802 219,119 1,801, 316
12 A 865,869 323,205 147,598/ 239,793 87,189 235,935 1,899, 589
1 A 876,421 323,969  150,840| 237,509 88,438 232,400/ 1,909,577
2 A 770,875 291,168 131,635 212,332 79,482  207,714| 1,693,206
3 A 832,582 320,278  143,473| 228,242 88,782 229,620 1,842,977
ZF(10, 154, 374| 3,740, 078| 1,721, 511| 2,770, 446| 1,008, 020 2,663, 25322, 057, 682
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(1) HEHRUBRTHEHAFK (CEFEEN 300 THEBZDLH D) (HAL - )
T *= % T # N % T = %
Ml /K % A1 3% T HPPE ¢ 100 L=624. 1m
il 13161 5% 4h Bl K& A #% T HPPE ¢ 75 L=618.7m
[ (T = 2 B K & Afi 5% . HPPE ¢ 50  L=261.3m 53,460, 000
(W EHT) | ke E T HFE N 5
MAKEB M LT PPe50~13 70 &7
i 14333 5 il K& A g% T. DIP ¢ 200  L=381.5m
TKE THFEIZFED Bl K& Aig% T DIP¢ 100 L= 2.9m 26, 521. 000
LW N T & Bl K& A 5% L. DIP ¢ 75 L= 7.8m
CEFHHET) | H ke ET A 2 %
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R CF T BRAT

B 9 M X [E e 3 (o ﬁbk%ﬁﬁ?I DIP ¢ 200 L= 10.6m
T — KK A F L PP ¢ 50 L= 42.5m 4,862, 000
(e T ) Fa KA B L L PP ¢ 20 3 f& B
Bl K& A3 L DIP ¢ 200  L=217.8m
iiE 14346 5 B K& A3 L DIP ¢ 100 L= 2.3m
TAKE THEITEE S Bl K& A 5% T. DIP ¢ 75 L= 1.9m 26, 059. 000
Fic K An s L HEVE P AR L ¢ 75 1 & B
CEHBT) | #AKE B LT PP o 50~20 47 & A
BERRE M AT 1K
Ml /K % A7 3% L HPPE ¢ 100 L=1, 094. 8m
il 1077 5 # 4t Bl K& A g% I HPPE ¢ 75 L= 294. 1m
Pl K 8 A R L Bl K& A #% L HPPE ¢ 50 L= 82.2m 48, 510, 000
R ol BT R B ) | kR R T RSN O 6
KB BUH L T PP ¢ 50~20 50 f& T
S 42132 B Bl /K & A #% 1 HPPE ¢ 75 L=1, 003. 3m
) Bl /K % A 3% I HPPE ¢ 50 L= 395.9m
Aic 7K A s L ) 38,016, 000
R T A) MkteZET HTFXHED 3
KU LT PP ¢ 25,20 30 & AT
B K & A ek T. HPPE¢ 75 L=823.7m
iE 43389 5 # 4k Fid K % A 5% T. HPPE ¢ 50  L=537.3m
Bid K A8 A a O L WokkekE T i FAE D 13 47,421, 000
(FE W& Yy) | HEVE P aX & L PP ¢ 25 2 & T
MAKEBE LT PPe50~20 87 &7
Bl /K % A 3% T HPPE ¢ 100 L=641.9m
i 1033 54t Bl K& A #% T HPPE ¢ 75 L=222.8m
LA =T = Bl K & A 3% T HPPE ¢ 50  L=587.7m 49, 016, 000
(FRERTIE)) | E ok k@ L RO 3 X
FEKE BUH L PP ¢ 50~20 80 f& AT
Bl K% ek L DIP ¢ 200  L=476.9m
H 1043 B HA Bl K& AT #% T SUS ¢ 200 L= 44.3m
. Bl /K & A1 #% 1. HPPE ¢ 100 L= 90.1m
[ =T = ) 52,228, 000
y ) Bl/KEAs L HPPE¢ 76 L= 11.1m
CORMIARE) | pmm T mFtin 2%
KK BUH T PP ¢ 50~20 6 f& T
o 1024 B B fid K % A 5% T. HPPE ¢ 100 L=784. 1m
. BCK & A #% T HPPE ¢ 75 L=427.1m
[ =T = ) 48,301, 000
Bl K% A g% T. HPPE ¢ 50  L=162.4m
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HEJR FR 3% & L SGP-VD 2 % Bt
K& HH LT PP 50~20 51 &PT
Bl K 4% A5 3% 1. HPPE ¢ 150 L=747.6m
i 2026 B 4k Ko /K A& 4 3% T. HPPE ¢ 100 L=102.9m
FKEMBZRLE Bo /K % fi 3% T. HPPE ¢ 50  L=445.2m 47, 267, 000
(BREWTZ ) | HkRedkE L #TFXEQ 4 %%
WK HH LT PP o 40~20 20 f& 7
Bl K% #i3% T. HPPE ¢ 150 L= 97.5m
o . Bl K% #7 3% T. HPPE ¢ 100 L=654.2m
TR 1039 5 Bl K Fisk T HPPE$ 75 L= 88.3
Vi B = .3m
Bl K8 A i 2 L& 41,679, 000
Wk ET #HFXED 3 i
5 7% 1 T E 571‘) A
BER R E L 2 & AT
WOKEBH UL PP ¢ 50~20 44 {5 Pr
V38 A A R A Bl K& A% L DIP ¢ 250 L= 46.8m
B KE AR L ﬁaﬂv@%ﬁ T.DIP ¢ 75 L= 12.0m 27, 896, 000
CEARFRTHE) | BRI T PPLP ¢ 250 L= 18.3m
Ko K 4% #7 3% T HPPE ¢ 150 L=624.9m
Ko K 4% 7 3% 1. HPPE ¢ 100 L=595.6m
il 2065 B # Bk A% T HPPE¢ 75 L= 4.0m
BEKEMBZRLE Bl k&A% T DIP$ 100 L= 1.9m 57,684, 000
(FHIET 4 TEA) | BAEHRZ T DIPH150 L= 7.6m
WAkRBET #HTFRXED 8 %
WAKE B L T.PP ¢ 50~20 29 &5 AT
Wil 1052 54 3
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¥& 7 YN 22 T. HPPE ¢ 150 L= 9.7m
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Bl K& A3 T HPPE ¢ 50  [=248.4m
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iiE 1052 5 #i5h Ml /K % 45 3% . HPPE ¢ 100 L=417.8m
[ =T = WokteskE T HMTFXHED 2 & 18, 436, 000
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Wi 32127 5% Fid /K % A g% T. HPPE ¢ 150 L=271.2m
Bl K 8 A AR L WA ET #TFAHED 13 12, 496, 000

(R ) |7 2R JBR) | AR HUH L I PP ¢ 50~20 14 & fF

Fic 7K & A7 5% T. HPPE ¢ 100 1=349.9m

i 32012 5 Bl K& Afis% T.HPPE¢ 75 L= 91.7m
LW N T = K& A& 7% & T PPLP ¢ 100A L= 10.5m 20, 097, 000

(BEMIMT & &) | M RaERE T XN 1 %

KU LT PP ¢ 30~20 13 f& AT

VR 5 A0 RO H A R AR Bl /K % A7 #% I HPPE ¢ 150 L=255.8m
A 3 R LIS D HekkeEET #MTFXED 2 & L4 894 000

APNCER T N 5K U LT PP ¢ 20 10 f# F7 Y

CRHT) | BERR B it E L L=252. Tm

e Bl K& A #% L HPPE ¢ 50  L=424.1m
A K AT X L o e 10, 296, 000

(e 5 HT) Fa 7K BUHY L T PP ¢ 25, 20 5 f% A

Fic K & Af 5% T. HPPE ¢ 100 L=104.6m

Fl K & A 5% T. HPPE ¢ 75 1=886. Im

HiiE 14240 = #R 4+ B K & A §% T HPPE ¢ 50  L=113.0m
B 7K 8 A R R L % 228 T HPPE ¢ 75 L= 17.7m 40, 425, 000

RN IT) | VE Kk ke k@ T M R O 14

HEVE 78R & T SGP-VD 2 &

KB LT PP ¢ 30~20 43 f& A
e K B A B R T N imm ’ oo 10, 010, 000

G 7 T 6 ) Wk E T i PO 1%

WMAKEBME LT PPe25~20 15 f& 7T

R 51061 571 B K& A &% T HPPE ¢ 75 L=157.5m
W K AT T o e 4, 895, 000

GIE T T A 1) #a K BUHY LT PP ¢ 25, 20 5 & fir

fid /K % A 5% T. HPPE ¢ 150 1=664.5m

i 14118 51 4h Fi K % A 5% T HPPE ¢ 50 L=121.5m
T =S G =2 MAkZFET HTFRHED 13 30, 096, 000

(THHT) | HEVe Fr ik & T SGP-VD 1 & At

KB B U PP ¢ 40~20 25 f& T

TiE 2146 5 ## Bl K% gk L DIP ¢ 200 L=339.2m
[ =T = WoktesE T M FXHED 13 18,612, 000
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S A - @bk%ﬁﬁ?I HPPE ¢ 75  L=258.6m
Fic, 7K o A 3% Bk L5 FEACEATEL T HPPE @ 50 1= 66.0m 17, 798, 000
(G T 7 ) HhkteZE L HTFXHED 1 %
K EUH LT PP ¢ 50~20 22 f& A
ﬁ”;]iﬁ:’j;;;;f; Ml /K % 4 3% L. HPPE ¢ 100 L=436.6m 8. 535 000
eI ) WK B L L PP ¢ 50~20 16 £ 7 Y
i 1017 5-#
WAL IR L it T A=769m2 11,715,000
(HE JRET)
B R T BRAR Fil /K & Afi 5% T. HPPE ¢ 100 L= 0.7m
B2 XE B FEIEITES B 7K & Aifx 1. HPPE$ 75 L= 83.8m
Fid 7K 48 Afi 5% L Bl K% A7 #% T HPPE ¢ 50  L=157.0m 5 839,000
(CRFHTE H) | fa7KE B L L ¢ 50~20 13 f& pir
1718 1001 5 # 4+ Fi K & A 5% T. HPPE ¢ 50  1.=245.0m
[ =i U PEJE Fp 3% & 1. SGP-VD50A 1 & fr 7,095, 000
(REHT) | A /K & B L L PP ¢ 25, 20 4 & Fr
i 61095 5 # 4 ﬁbk’*“@%ﬁémi HPPE ¢ 100 L= 24.0m
FLKEAHRTEF(ZD 2) & %2 YR 25 T HPPE ¢ 100 L= 17.9m 6, 600, 000
Caftir =4) | HrRR ek E L 1 & Fr
il 13382 5 ## .
T GE T I S 1E37J<%Sifﬁ§£1 HPPE ¢ 100 L=209. 1m
o A A 3 BT o HokesE T HMTEXHD 2 12,232, 000
. MAKEBME LT PPe40~20 10 f&Ar
il 13279 5
ERG R THEICMED .
I — Bl K% #ig% T. HPPE¢ 756 L=121.3m 3,212,000
(4L mT)
il 33142 5 Bl K % A 3% T HPPE ¢ 100 L=343.7m
[ N = HokesE T M FXHED 1 & 14,531, 000
(R o) MY 1)) | #6 K & B L T PP ¢ 50~20 14 & T
T - b EM@E@Z‘E?I HPPE ¢ 100 L=534.8m
- Bl K& #ig% T HPPE¢ 75 L= 20.2m 24, 304, 500
G T ) MAkZFET HTFRHED 2 #
WMAKEBRME LT PP 50~20 6 &7
F;%;EZI:i:{;jﬂﬁ EE7}<E%E§I HPPE ¢ 150 L= 19.3m
Y ;ﬁimi%ﬁ@zi HPPE ¢ 100 L:184k.k14m 8, 822, 000
(35 55 0T 86) Fa K B L I PP ¢ 20 5 & FT
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s 43386 = 4k Bc K %& 4 #% 1. HPPE ¢ 100 L=23.6m
[ =T = Bl K% fi#% T HPPE ¢ 50  L=108.5m 7,040, 000
(FENT G 8 Y7) | A5/ B L L PP ¢ 20 5 f& AT
G 21151 B A Bl K& A7 3% T HPPE ¢ 75 L=482.0m
[ =T = REACHATE L HPPE 9 50 1= 58. 0m 18,216, 000
S WokRBRET HFRED 1k Y
FHKE U L PP o 20 21 &
3 61130 541 Bl K & A 5% T. HPPE ¢ 75 L=227.0m
[ =T = REACHATE L HPPE 9 50 L= 24 5m 11,671, 000
(52 4 BT 9T WokREET HFRED 2 I Y
KB B LT PP o 20 7 & T
BT FE I E BN L R BB AR | Bl K A R% L HPPE ¢ 150 L=569. 3m
Bl KEAMR LHE(Z D 4) WokkegkE T i FAED 13 20, 625, 000
(CREHTSL) | A5 K& ERH L T PP ¢ 30, 25 2 &5 A
iigﬁ;zﬁ 5 @a7k%7fﬁ5£1 HPPEqS?\BW L=174.1m
o o 2 5 T ﬁkiﬁaﬁﬁi FEHE A 1;:2 6, 094, 000
(85 o4 BT KA B L PP ¢ 40~20 11 fHAT
i 21157 S # 4 B K B A e T. HPPE¢ 75 L=186.4m
[0 =5 S B Fid K& A g% T. HPPE ¢ 50  L=319.2m 16, 225, 000
(RERTE H) | KRS EH LT PP ¢ 30~20 20 & T
3 61095 B fiﬁ’iéjfgﬁi HPPE ¢ 100 L=375.4m
Bl K% A B T (2 0 3) fﬂ#i}ﬁi L 14, 025, 000
(S5 4 0T = 25) HokeixE T HTFXHEO 1%
#6 K U L T PP ¢ 40, 25 2 8 T
;féﬁ:ﬁﬁgﬁi$ fic 7K % A 5% T. HPPE ¢ 100 1=359.2m 19 995 000
G T ) fid 7K %5 47 #% T. SGP-VD100A L= 13.0m T
S 52030 5 Bl KEAFR L HPPEG 75 L= 8.7m
I —— Bl K% A g% T HPPE ¢ 50 L= 67.4m 5 641000
(5 ) WAHBRET HMTFREO 1T ’
KK B LT PP o 25, 20 3 & A
R E AN IE B
TAKE THEICHE S Fid K % A 5% T. HPPE ¢ 100 L=152.9m
Bl A % A 3 B T f KA B LT PP ¢ 50~20 13 f&T 0. 105, 000
(¥ S HT)
S 14321 B Bl K% A g% T HPPE ¢ 75 L=166. 1m
A 7K A a % T ﬁa*%?ﬁ%l HPPE 650 L= 7. om 8,173, 000
(I 4 T R) MAkteET HFXNHED 14
KB B L PP ¢ 50~20 8 fE T
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e B A i R LR FLA—RMEE FRTLA—2# | 201,300,000
(BEHEsMT 3 T HAN) | N AEHEE 4
BB T 1 X
T 348 4 K 5 = e A
N 1=
KEHEELFE \ 514, 030, 000
(imwaTa%>%ﬁﬁﬂﬂ L
B
FE % % 7B RS X i 1=
KAV 38 ¥ 7K 35
CA T 1
KERPLTHE S o 5 L& 46, 860, 000
Gk FE % B
(K ST )11 3 3 ) Akt i
R (7] ¥4+ 7K 4% AR T 1=
No.3 EMIEMEIR A A M F | RLRIEM R 12m3
- 31, 460, 000
Fo A XEWH  0.8m3
(Rl M7 R ) | BESX A M M B ek sl E SR 4
K&F K 5
K ]’7 No. 2 P 7K #th g & L
No. 2 B /K fth 2k f& T = ‘ 50, 545, 000
. NEEELBGAREE K T 1,007m2 44 1 3K
(KT HIN)
KA v T EE 1 =
JIT 3 95 K 4 . . i
JUEKF S TERT 1 &
1 B%ARN 7HEH TE 4,840, 000
(¢ 100X 1.67m3/min X 60mx 30kW
(S ST 1] 58 1 )
200V, 50Hz. 2P)
AiEAR v 7R 1
B 2 ok o y
JUEKP S TER T 15
A 5ABKA S TEHILE 4,400, 000
(¢ 100X 1.37m3/min X 25mX 11kW
(& At BT & 7 HN)
200V, 50Hz. 2P)
AR v 7R 1
0 L 5 0 1 35 L ’
JUEKP S TER T 15
2 FABAR TEHTLE 4,070, 000
(6 100X 1.53m3/min X 25mX 11kW
(FEE [oe) BT 1 Y8 0 M)
200V, 50Hz. 2P)
. . AR 7
R 2 KR ]
N KRy 1
No. 1 Bi/k R > 7 & T.5 8, 162, 000
é 250X 5. 2m3/min X 15m 200V 50Hz
R I H1N)
2P 30kW
2) WK AE E 5 (BN @ )
fid Kk WOk E & it
R 9 546 555
X F 1 135 136
& 4 104 108
I 10 118 128




[z 10 67 77
=S 3 114 117
& & 37 1,084 1,121

I AKMEE LE (RAKE) i3k kel y &,

1 fKEEE THEA (B (HLAL @ )
BroowR % i & i S a F

1 201 369 - 75 645

N 54 95 - 19 168

fi 37 39 - 23 99

#B 47 50 - 5 102

i) 16 5 - 1 22

7= 55 49 - 12 116

A 410 607 - 135 1, 152

2 INE Gy TSR AT K (CHLAL @ )
B E W A R E Fh Z Dl a @

i R 15 136 30 - 181

NI 3 47 8 - 58

i T 1 36 2 - 39

#o A 6 38 4 - 48

[ 1 13 - - 14

= i - 38 8 - 46

& R 26 308 52 - 386
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